Instrukcja montazu

SIES

— comjortable Assembling Instruction

Montageanleitung

linstruction de montage

MOA

N 7
VAR

strona/page/Seite 2 |

no 200
>

WSI M6x30

A x4 Bx1

(@ M @

Cx1

strona/page/Seite 3 |

no 200 A

,,—\\\W// ’1;

§ $45x3 420
D x1 Cx1
strona/page/Seite 2 |
no 199

(((({{(((((((({(((((0
35\ 15 WSI M6x30
A x4

L-4
B x1

strona/page/Seite 3 |

D60/25

1

Moa 04-2021



&

©

< W/

&
e

M
OA
04-2021







strona/page/Seite 6

no 200 no 200 A

() %

) & (T

WSI M6x30 L-4 M8x40 8,5x22 L - 80x $10
N x2 Ax16 Bx1 st Dx2 Ex2  Fx2 G x1
strona/page/Seite 7 |
no 199 no 197
. 3 ((({«««((({««(( Mmm@ &S Tt
T i WSI M6x30 M8x40 8,5x22 L - 80x $10
x2 X2 A x8 B x1 E x2 F x2 G x1

4

MOA 04-2021




—(—

L-80x $10
G x1

Q

M8x40
E x2 F x2

N
2

e

v

8,5x22

5

Moa 04-2021




Qi
<

o @ (o)
\V
m
\y

MOA 04-2021



10

11

Zachowaj instrukcje / Please keep instructions / Bewahren Sie die Anleitung / Merci de garder linstruction

SITS Sp.z 0.0. ,ul.Sikorskiego 60 , 87-300 Brodnica , POLAND

7

Moa 04-2021




